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Math 112
Homework 8 Solutions

Part 1

11.1 #2:
11.1 #4:
11.1 #6:
11.1 #8:
11.1 #10:
11.1 #12:
11.1 #14:
11.1 #16:
11.1 #18:

11.1 #33:

11.1 #39:
11.1 #52:

converges to 0
converges to 0
diverges

converges to 1
diverges

converges to V2
converges to 0
converges to In1 =0

(a). lim 2" diverges when x > 1 or x < —1. (b). lim 2" = 0 when |z| < 1.
(c). lim 2" =1 when z = 1.
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klim ap exists only when z < 0 because ¢ > 1 when x > 0. When x < 0,
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klim ap = 0. When x = 0, klim a,p = 1.

converges to e 1/2

diverges
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